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QUESTION 1
An administrator has been tasked with configuring service discovery to identify which virtual machines are running Active Directory services. All virtual machines are running on vSphere 6.5.
Which credentials, if any, are needed for the administrator to complete this task?

A. No credentials are needed since credential-less service discovery can be used.
B. Local Windows administrator account and password.

C. Active Directory domain administrator account and password.

D. Active Directory domain user account and password.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 2
An administrator is configuring Workload Optimization to maximize the workload performance.
Which configuration proactively moves workloads so that the resource utilization ensures maximum headroom for all resources?

A. Buffer

B. Moderate
C. Balance

D. Consolidate

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3

Users have reported several application VMs are performing very slowly. The system administrator was requested to find out the source of the problem on both VMs and/or ESXi hosts level. vRealize Operations has not been configured with
Application Remote Collector.

Which action will help the administrator to quickly identify the underlying problem?

A. Under Inventory, select Manage Agent, then select the VMs, and run Remote Checks on ICMP, HTTP checks.

B. Under Report, use Configuration Report - Virtual Machines to list down possible changes that have occurred.

C. Under Administration, choose Configuration, select Object Relationships, and then identify the VMs and ESXi hosts relationship to generate a correlation of the metric, and finally, isolate the issue.
D. Under Dashboard, choose the out-of-the-box Performance dashboards that displays contention on both VMs and ESXi hosts.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4

A vRealize Operations Manager administrator has the following requirement:

Whenever any object is selected in Widget-1 of Dashboard-A, then ONLY Widget-2 of Dashboard-B should be populated with the information.
Which setting of Widget-2 in Dashboard-B can help the administrator satisfy this requirement?

A. Keep Refresh Content Off
B. Keep Self-Provider Mode Off
C. Keep Refresh Content ON
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D. Keep Self-Provider Mode ON

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 5
What is the minimum number of fault domains required to achieve vRealize Operations continuous availability with a primary node, data node, and witness node?

A. 4
B.1
C.3
D.2

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 6
To meet a requirement for protection against data loss in the event of a physical rack failure, an administrator is deploying a vRealize Operation cluster in a Continuous Availability configuration.
Which three node types will be configured within this scenario? (Choose three.)

A. Secondary Replica node
B. Remote Collector node
C. Primary Replica node

D. Primary node

E. Witness node

F. Secondary node

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
Which two conditions must be met to allow an automated action to be triggered from an alert?
(Choose two.)

A. Within the active policy, the alert definition’s automated setting can remain at the default setting.
B. Within the active policy, the alert definition’s automated setting must be set to enabled.

C. The alert will not require an attached recommendation.

D. The alert must have a recommendation but does not require symptom definitions.

E. The alert must have a recommendation attached to it.

Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 8
An administrator defines the role-based access control mechanisms for new vRealize Operations Manager implementation using LDAP authentication method.
Which statement accurately describes these users?

A. Credentials for these accounts are stored in its central Postgres database.

B. They are not allowed to perform any actions in vRealize Operations.

C. They can access vSphere and other objects including third-party objects.

D. The LDAP user password policy is set to expire every 45 days in vRealize Operations.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 9
Which regulatory, standards-based compliance pack is available in vRealize Operations?

A. Sarbanes-Oxley Act (SOX)

B. Common Vulnerabilities and Exposures (CVE)
C. CIS Security Standards

D. General Data Protection Regulation (GDPR)

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 10
Which two options can be applied as a super metric? (Choose two.)

A. The average CPU usage of VMs within a Datacenter

B. The difference of CPU utilization for each VM between two defined time stamps

C. String operators that are valid to be used with mathematical calculations in a function
D. Count of Non-Windows VMs in a vSphere cluster

E. The average SCSI count with disk size of VMs within an ESXi host

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 11

An administrator has been tasked with configuring vRealize Operations to ensure that workload performance across the VMware SDDC is the main priority. In the event of an issue, remediation activities should be automatically completed to
minimize any impact to running workloads. A maximum of 10% cluster resources should be reserved for burst capacity.

Which option should the administrator configure to meet these requirements?

A. Business Intent
B. Reclamation

C. Operational Intent
D. Rightsizing

Correct Answer: A
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 12
While creating a What-If Analysis to compare datacenters, the administrator would like to simulate 25% utilization of the resources.
Which workload option should be included in the scenario?

A. Memory

B. Annual Projected Growth
C. Expected Utilization
D.CPU

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 13
An administrator is working on a non-credential based service discovery in a virtualization environment using vRealize Operations.
Which package is a base requirement of the virtual machine?

A. Telegraf Agent
B. .NET

C. Remote Collector
D. VMware Tools

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 14
Which two are supported Cloud Account types in vRealize Operations? (Choose two.)

A. Microsoft Azure

B. Horizon Connection Server
C. Google Cloud Platform

D. vRealize Automation

E. vCenter Server

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15

After deploying vRealize Operations, an administrator needs to configure cost drivers to accurately reflect the purchase price and date of all nodes within the VMware vSAN cluster that are being monitored.
Which type of cost driver should the administrator select?

A. Server Hardware: Hyper-Converged
B. Storage
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C. Server Hardware: Traditional
D. Additional Costs

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16

Which option in vRealize Operations is able to calculate measurements on a Guest OS?

A. Custom Script
B. HTTP Check
C. UDP Check
D. TCP Check

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 17

At which frequency are new services discovered when using Service Discovery in vRealize Operations?

A. Every 15 minutes
B. Every 24 hours
C. Every 5 minutes
D. Every hour

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18

An administrator deployed vRealize Operations and has been tasked with ensuring that the VMware SDDC remains compliant to the VMware vSphere Security Configuration Guide. The compliance benchmark is showing that the VMware

SDDC is not completely compliant to the standards.
Which three symptoms could have triggered a compliance alert? (Choose three.)

A. The lockdown mode on a vSphere ESXi host is set to Disabled.

B. Transparent Page Sharing is Disabled on a virtual machine.

C. The SNMP service on a vSphere ESXi host is set to Disabled.

D. The Enable 3D Support setting for the Virtual Machine is set to FALSE.

E. The Disable console copy operation for a Virtual Machine is set to FALSE.
F. The Forged Transmit policy is set to allow on a Distributed Port Group.

Correct Answer: ACF
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 19
Which two statements accurately characterize reports in vRealize Operations? (Choose two.)

A. Views and Dashboards are the only data types available for a report.
B. Only PDF type reports can be used to schedule a report generation.
C. A report layout can contain table of contents, cover page, and footer.
D. Scheduling of reports can be done hourly, daily, weekly, and monthly.
E. Reports scheduled for generation can only be shared out via email.

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20

A customer is using multiple vRealize Operations (vVROps) instances and has one central development vROps instance for creating dashboards. The administrator is tasked to share the newly created dashboards with other vROps instances,
and the dashboards must be editable in the other instances.

Which action should the administrator take to accomplish this goal?

A. Generate a custom URL, set the expiration to "never expire", and import this URL into the other instance.
B. Use the Embed option to import the HTML code into the other instances.

C. Connect the vROps instances together, and synchronize the dashboards.

D. Export the dashboard from the development instance, and import the dashboard into the other instance.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 21
Which three key benefits does vRealize Operations provide within an environment? (Choose three.)

A. Capacity optimization

B. Service catalog for end users
C. Performance optimization

D. Monitoring and troubleshooting
E. Infrastructure orchestration

F. Provides self-service portal

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 22

An administrator has deployed a vRealize Operations (vVROps) cluster in a Continuous Availability configuration across the two racks in two fault domains. Following a network outage that occurred for several minutes, the administrator has
been tasked to ensure that the vROps deployment is still healthy. They have noted that one cluster can still contact the witness node.

Which two events will occur as a result of the outage? (Choose two.)

A. The vROps cluster will bring the fault domain back automatically once the network has been restored.
B. The administrator will need to bring the other fault domain online manually.
C. The administrator will need to restart and resync the vROps cluster.
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D. One fault domain will go offline.
E. Both fault domains will be offline.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 23
During an upgrade of the vRealize Operations cluster via the Administration Ul, the cluster has failed, and the status has changed to offline.
Which remediation strategy should be used to manage this problem and continue the installation process?

A. Manually take the cluster offline, and then select Rollback Installation.
B. Manually bring the cluster online, and then select Rollback Installation.
C. Manually take the cluster offline, and then select Finish Installation.
D. Manually bring the cluster online, and then select Finish Installation.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 24
What is the purpose of the self-provider option within the dashboard definition?

A. If Refresh Content is enabled, it will specify how often to refresh the data in the widget display.

B. It can create a custom set of metrics to support widgets with meaningful data.

C. It enables or disables the automatic refreshing of the data in the widget display.

D. It indicates whether objects appearing in the widget are defined in the widget or are provided by another widget source.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 25
When Workload Planning is performed, it returns that an existing cluster does not have the capacity to accommodate the selected virtual machines.
Which alternative is offered by default?

A. Cost comparisons for running in hybrid/private/public cloud

B. Cost options for increasing cluster capacity with additional hosts
C. Modifications to virtual machine configuration

D. Modifications to host configurations

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 26
An administrator is unable to move a storage resource when using Workload Management.
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What is the underlying reason for this problem?

A. DRS is not enabled for this cluster.

B. Storage DRS is not enabled for this cluster.

C. Storage DRS is configured only for cross-datacenter migrations.
D. DRS is not set to fully automated.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 27
An administrator is asked to onboard an on-premises vCenter instance into an existing vRealize Operations Cloud instance.
Which two steps are needed to accomplish this goal? (Choose two.)

A. Deploy and configure a Data node.

B. Deploy and configure a cloud proxy.

C. Add a vRealize Operations Cloud account.
D. Deploy and configure a Primary node.

E. Add a vCenter cloud account.

Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 28
An administrator has Telegraf agent installed on a server instance.
Which type of Remote Check may be configured?

A. ICMP Check
B. UDMP Check
C. RDP Check
D. WMI Check

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 29
Which type of node in a vRealize Operations (vROps) design allows an administrator to scale out vVROps to monitor very large environments?

A. Remote collectors

B. Replica Primary nodes
C. Primary nodes

D. Data nodes

Correct Answer: A

Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 30
An administrator is creating a new alert definition. It was decided that this new alert should affect the Risk badge of an object when triggered.
Which setting should be configured by the administrator to achieve this goal?

A. Impact

B. Alert Type & Subtype
C. Criticality

D. Base Object Type

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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